



























$$\begin{aligned} & \mathcal{E} = k[t_{x}]R \\ & \mathcal{E} = k[t_{x}]R \\ & \mathcal{E} \mathcal{E}^{T} = k^{2}[t_{x}]RR^{T}[t_{x}]^{T} = k^{2}[t_{x}][t_{x}]^{T} = \begin{bmatrix} k^{2}(T_{y}^{2} + T_{z}^{2}) & -k^{2}T_{x}T_{y} & -k^{2}T_{x}T_{z} \\ -k^{2}T_{x}T_{y} & k^{2}(T_{x}^{2} + T_{z}^{2}) & -k^{2}T_{y}T_{z} \\ -k^{2}T_{x}T_{z} & -k^{2}T_{y}T_{z} & k^{2}(T_{x}^{2} + T_{y}^{2}) \end{bmatrix} \\ & Trace[\mathcal{E}\mathcal{E}^{T}] = 2k^{2}(T_{x}^{2} + T_{y}^{2} + T_{z}^{2}) = 2k^{2}||t||^{2} \\ & \frac{\mathcal{E}}{|k|||t||} = \operatorname{sgn}(k)\frac{[t_{x}]}{||t||}R = \operatorname{sgn}(k)\left[\left(\frac{t}{||t||}\right)_{\times}\right]R = \operatorname{sgn}(k)[\hat{t}_{x}]R = \hat{E} \\ & \hat{E}\hat{E}^{T} = [\hat{t}_{\times}][\hat{t}_{\times}]^{T} = \begin{bmatrix} 1 - \hat{T}_{x}^{2} & -\hat{T}_{x}\hat{T}_{y} & -\hat{T}_{x}\hat{T}_{z} \\ -\hat{T}_{x}\hat{T}_{y} & 1 - \hat{T}_{y}^{2} & -\hat{T}_{y}\hat{T}_{z} \\ -\hat{T}_{x}\hat{T}_{z} & -\hat{T}_{y}\hat{T}_{z} & 1 - \hat{T}_{z}^{2} \end{bmatrix} \end{aligned}$$

EquationExample 1
$$\hat{E} = \begin{bmatrix} \hat{E}_1^T \\ \hat{E}_2^T \\ \hat{E}_3^T \end{bmatrix}$$
 $R = \begin{bmatrix} R_1^T \\ R_2^T \\ R_3^T \end{bmatrix}$ $Let \ w_i = \hat{E}_i \times \hat{t}, \ i \in \{1, 2, 3\}$ It can be proved that $R_1 = w_1 + w_2 \times w_3$ $R_2 = w_2 + w_3 \times w_1$ $R_3 = w_3 + w_1 \times w_2$

Reconstruction up to a Scale Factor

We have two choices of \mathbf{t} , (\mathbf{t}^+ and \mathbf{t}^-) because of sign ambiguity and two choices of \mathbf{E} , (\mathbf{E}^+ and \mathbf{E}^-).

This gives us four pairs of translation vectors and rotation matrices.

Reconstruction up to a Scale Factor

Given \hat{E} and \hat{t}

- 1. Construct the vectors **w**, and compute R
- 2. Reconstruct the Z and Z' for each point
- 3. If the signs of Z and Z' of the reconstructed points are
 - a) both negative for some point, change the sign of \hat{t} and go to step 2.
 - b) different for some point, change the sign of each entry of \hat{E} and go to step 1.
 - c) both positive for all points, exit.

$$Z = f \frac{(x'R'_{3} - f'R'_{1})^{T} t}{(x'R'_{3} - f'R'_{1})^{T} p}$$
$$Z' = -f' \frac{(xR_{3} - fR_{1})^{T} (t)}{(xR_{3} - fR_{1})^{T} p'}$$

Finding Correspondences

Stereo matching algorithms

Match Pixels in Conjugate Epipolar Lines

- Assume brightness constancy
- This is a tough problem
- Numerous approaches
 - dynamic programming [Baker 81,Ohta 85]
 - smoothness functionals
 - more images (trinocular, N-ocular) [Okutomi 93]
 - graph cuts [Boykov 00]
- A good survey and evaluation: <u>http://www.middlebury.edu/stereo/</u>



















